Expressions & Formulae

Giventhat a =8, b=12 and c =4, calculate the value oft
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A formula is definedas £ = 5p + g°.
{a}  Calculate the value of £ when p=2 and g=3.
(b)  Calculate the value of £ when p=4 and g=2.

(c) Calculate the value of E when p=35 and g=2=.

{a)  What is the valueof x* + 3x — 5 when x =47
(b)  What is the value of x* — 2¢ + 7 when x =17

(¢} What is the value of 2x° + x — 1 when r=27

Express each of the fractions below in their simplest form giventhat a = 7 and b = 3,
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** You need a calculator for guestions 5 and 6, /i
~

A formulaisdefinedas P = 4% — ]—E;r--

Calculate, giving your answers correct to 3 significant figures, the value of P when:

{a) d=13 and e=130 (b)) d=11 and e =064 )  d=21and e=200

(dy  d=4 and ¢=60 (e) d=3 and e=32 (f)}  d=21-5 and e= 5950

Giventhat h =15 and g = 23, calculate, correct to 2 significant figures, the values of:
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Formula (1)

Evaluate the following formulae for the values given:

{a) T=3s+2, find "when s =18 (b) P=5¢-7, find Pwheng=3

(¢) R=40-8x, findRwhenx=2-5 (d) z=3+5y, findz wheny=1-8

(¢) k=2a+3b, findkwhena=7b=2 (f) R=C+Ppr, find R when C=0-6,P=2.4 ¢=7

(g) P=kT-0-8, find Pwhenk=4,T=1.7 (h) ¥=1-9 +sZ, find ¥ whens=2.8,Z= 0.5

The following formulae are used in mathematics and science.

Evaluate each formula for the numbers given:

arh
(@ V= ; Find ¥ when 7 = 3-14, r=9, f =35.

¥ .
(b) R=T Find R when /=5and F= 0.1,
() wv=fi Find v when f=18and i= 2.5,
(d)  E=mgh Find £ whenm=70,g=10and s =2.
(e) A=ms Find 4 when 7= 3-14,r= 2.5 and 5= 12,
(f) V=t al Find v when u=18 a=6and +=9,
(8) s=w+Yhal Find swhen a= 0.2, =% and u=10,
{h) A=2mrh Find 4 when 7= 3-14,r=24 and h = 50.
i) P= ['r Find » when /=35, r=15.
Gy A=x(R - Find 4 when 7= 3-14, R=20and r =8,
k) e='am’ Find ¢ when m=2and v=16.

AVt : .
(1) fi‘:—f Find & when A=0,m=08 V=12 t=60, T'=20.

m
(m) =TI Find F when m=2, =4, v=7 and ¢ =3,

t
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i(n) 5= 5 Find s when a=%,u=3and v=35.
a

(0) a=.b—-¢ Find a when b= 31.2 and ¢ =12,
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